I: - dynabook

PARTS LIST
Portégé X40-G
Model Number [Short]: PMR41E, PMR43E
[seano | [_parTno | wroNo |
1 01-A P000816190 A5A004587520 PCB MOTHER BOARD ASSY
2 03-D P000831540 G33C000AQ110 LCD LCD 14.0 FHD
3 05-A P000834460 G8BC000CS510 SSD SSD M.2 PCIE 512GB
4 05-A P000823440 G8BC000CQ510 SSD SSD M.2 PCIE 512GB
5 05-A P000804110 G8BC000CG510 SSD SSD M.2 PCIE 512GB
6 07-A P000783860 G4BC00035FSO MEM MEMORY DDR4 2666 16GB
7 07-A P000811700 G4BC0003DFMO MEM MEMORY DDR4 2666 16GB
8 08-A P000817340 G71C000LS210 ADP AC ADAPTOR 3PIN 65W
9 08-A P000834450 G71C000LS310 ADP AC ADAPTOR 3PIN 65W
10 08-A P000797720 G71C000LS110 ADP AC ADAPTOR 3PIN 65W
11 09-B P000537110 GDM900001221 ACC AC CORD SET(3WIRE)
12 09-B P000644720 GDM900003015 ACC AC CORD SET(3WIRE)
13 10 P000788300 G71C000L0510 LiB BATTERY PACK 3CELL U30
14 10 P000833410 G71C000L0710 LB BATTERY PACK 3CELL U30
15 10 P000826100 G71C000L0610 LiB BATTERY PACK 3CELL U30
16 11-1 P000733550 G83C000J95FR KB KEYBOARD UNIT(FR)
17 12-B P000789330 GDM900003833 HAR FHD LCD TOUCH HARNESS
18 12-B P000789340 GDM900003834 HAR FHD LCD TOUCH HARNESS
19 13-A P000809310 G9BC0006A210 com CAMERA MODULE
20 14 P000816110 G86C0007TD10 com WLAN+BT COMBO MODULE
21 15 P000790710 G61C0004A210 FAN COOLING FAN
22 16 P000790720 G61€00049210 ETC HEAT SINK
23 17 P000729320 GDM300000428 SPK SPEAKER ASSY
24 18 P000729330 G70C0006U210 ETC FPC DUAL BUTTON
25 19 P000816130 GM9031099521 INS INSU SQUARE
26 20 P000790730 G83C000KH310 TP SECURE PAD WITH ACCUPOINT
27 21 P000731140 GDM900003626 HAR FFC FINGERPRINT
28 22 P000731070 GDM900003629 ANT W-LAN ANTENNA MAIN
29 23 P000731090 GDM900003628 ANT W-LAN ANTENNA AUX
30 24-A P000819120 GDM900004002 HAR CAMERA HARNESS
31 25 P000793330 GDM900003923 HAR FFC CLICK PAD
32 26 P000739990 GDM900003630 ANT 3G/LTE MAIN ANTENNA
33 27 P000740000 GDM900003631 ANT 3G/LTE AUX ANTENNA
34 28 P000790740 G28C0004R110 HAR FPC SYS-SUB
35 29 P000731160 GDM900003624 HAR FFC LED PCB
36 30 P000731170 GM9041876111 BH HINGE L ASSY
37 31 P000731180 GM9041877111 BH HINGE R ASSY
38 32 P000753020 G86C0007N310 com 3G/LTE MODULE
39 33 P000674900 GM9036376481 INS INSU SQUARE
40 38 P000796930 GM904333811A PLT CAM SHUTTER
41 40 P000746950 GM904187222A cov BASE ASSY
42 40A P000732160 GM904197011A Cus BOTTOM CUSHION R
43 40B P000732170 GM904221311A Cus BOTTOM CUSHION F
44 40C P000746980 GM9042576111 INS CU LAMI BASE
45 41 P000732180 GM904221211A Cus BOTTOM CUSHION M
46 49-A P000812500 GY4C00073D10 ETC COOL SHEET
47 49 P000746960 GY4C00073E10 ETC COOL SHEET
48 50 P000816200 GM904187452A cov LCD COVER ASSY
49 50A P000510300 GM9027155111 INS INSULATOR ANT HOLD S
50 51-B P000819130 GM904187561A cov LCD MASK ASSY
51 51A P000713740 GY4C00007T10 ETC MAGNET
52 51B P000808720 GM9032191251 ETC MASK D STICK TAPE
53 52 P000728450 GM904173511A cov HINGE CAP L ASSY
54 53 P000728460 GM904173611A cov HINGE CAP R ASSY
55} 58-A P000796950 GM904332811A INS CAM PANEL IR
56 58 P000796940 GM904332711A INS CAM PANEL
57 59 P000819140 GM9042825131 ETC AL TAPE
58 60-A P000797330 GM904187341A cov COVER ASSY
59 60A P000596450 GM9036376231 INS INSULATOR SQUARE
60 60B P000778100 GD9C00017G10 ETC GASKET
61 60C P000714920 GM9041385111 INS INSULATOR HNS HLD
62 61 P000731220 GM9041920111 INS INSULATOR KB
63 62 P000729940 GM9041734111 cov C PAD PLT ASSY
64 64 P000733380 GM9041918111 INS INSULATOR KB FPC
65 65 P000734500 GM9041748111 PLT DUAL BUTTON PLT
66 66 P000731230 GM904187811A cov PW BUTTON ASSY
67 67 P000734510 GM904174411A cov DUAL BUTTON
68 68 P000797030 GM9035507151 Cus GUM CUSHION
69 69 P000797040 GM9031099471 INS INSU SQUARE
70 70 P000797300 GM9042148111 INS INSU BOSS
71 72 P000799500 GM9043195131 Cus SQUARE CUSHION
72 73 P000815720 GM9043644D20 ETC NON-WOVEN CLOTH SHEET
73 79 P000797220 GDM250000350 ETC SIM TRAY
74 80 P000816210 A5A004588520 PCB LED BOARD ASSY
75 81-A P000797320 A5A004583010 PCB USB BOARD ASSY
76 89 P000730900 G83C000JG310 ETC ACCCUPOINT CAP
77 90 P000729970 GM9021049821 LAB CAUTION LABEL
78 92 P000729480 GM90243116BA ETC PRODUCT BADGE
79 AO1 P000530560 GY4C0002M120 ETC GLASS CLOTH TAPE
80 A02 P000554100 GHO0C0001A110 ETC CLEANER CLOTH
81 So1 P000717950 GDM640000667 SCR SCREW M2X2 FLAT HEAD
82 502 P000716570 GDM640000653 SCR TSCREW M2X3 3CR
83 S03 P000716560 GDM640000664 SCR G SCREW M2X2.5 3CR
84 S04 P000716630 GDM640000665 SCR G SCREW M2X2.5SBNI
85 S05 P000714030 GDM640000661 SCR SCREW M2X3 FLAT HEAD
86 S06 P000729980 GDM640000670 SCR SCREW M2.5X5 FLAT HEAD
87 S07 P000729990 GDM640000669 SCR SCREW M2X2.5 FLAT HEAD
88 202 P000576400 GM9026454120 ETC PE-BAG
89 203 P000793340 GM9043193090 ETC FG CARTON BOX
90 204 P000736100 GM9041834B20 ETC ALTAIR-MR PAC(CUSHION)

91 205 P000736110 GM9041834C10 ETC ALTAIR-MR PAC(TRAY)



IK: - dynabook

DRAWING [PAGE 1]

Model Name: Portégé X40-G
Model Number [Short]: PMR41E, PMR43E




IK: - dynabook

DRAWING [PAGE 2]

Portégé X40-G

Model Name:

PMR41E, PMR43E

Model Number [Short]:




